Honors CCM2
HW: ODM Midterm Review
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1. Ona separate sheet of graph paper, graph y > x°+2x+landy < x° - 4x + 4 and find T\hE

intersection. (X +1) [ %41) (%2 X3+2) ' _
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4 Solve: I3x+1 +10=5
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3’43#\4 phos 31?’_1 - X>-42

3 =2 - (24

5. A painting's original value when purchased was $350. Six years later, it was worth $429.20.
Find an exponential equation to model the information. Then, find the value of the painting

ten years after the purchase. (0,350) (b, 422.20)
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6. Find an equation in point ratio form with the points (1, D) anc
'l‘hr'ee pIGCeS. 6 =5 50 Cb)l"“t

b=1.31%F

\Q

your "b" value to

7. In 2010, you put $1500 into an account earning 77 annual interest. In what year will the
account be worth $2000? (= 4.25 ueaws larer

7000 = 1500(1""3':%)}(

m has a half-life of 1620 years. Write a function for 8 3 mg sample. Find the amount

=3l V-S(é)%"




. Describe how the parabolay = -(x - 4)? + 3 is shifted fromy = X". Y-AYIS
rght 4 up 3 flippesl ovEet S

12. Sketch the graph of the function on a separate piece of paper.y = v Mi:ff)

a. Find the x-intercepts? ("‘\,0) (-4, 9) o

b. Find the axis of symmetry. Y=-#+75

C. Find the vertex. (-1.5, -2.26)

d. Find the y-intercept. (0,54)

e. Isthe vertex a maxor a min?m;n

13. Find the equation of a function with intercepts at (-2, 0) and (4, 0) and a vertex at (1, 6)
¥z "2 (44D (x-4) y= D (-4

Factor and find the solutions.

14.2v¢ +1lv+5=0 =
\0 2vi4loviE VES i Ly '

o\ ay(ves) HHVHS)
(7,\:1—1) (v¢5)=°

15.7a° + 53a+28=0
449 14 44a 4|92+ 28 (ar3) ( Tat4)

1 a(1a+4) |1 1a+4)

16.16b% + 60b - 100 =0
£ 1 (w'h156-29)70 Bl S
B A 4b1b)-5b-15) =0 -
A 4 ( 4b (b.r-g) "5((9*‘5)):"0

Find the discriminant and tell the number/type of solutions.
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22. Find x and vy if AABCE;» APQR, ngG:: Bx + 70 mZC =24x-25, msP =4y + 2, mLA = X *Y.
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23. Given that H is between J and K, JK = 48, JH = 4x - 15, and HK = 3x + 3, find the value of X7 —
the length of JH, and the length of HK. Av-15 3y 13 xS +axr3 =48
*—,—_\m‘%j e e i —11= 4
—J-H | J 2 I e -H%.
ﬁ/\{-: 7/% q‘i\ Txz=8t)
[ o | v=00 ov RB.L
24. Find aand p in the figure below. | X =y ,
Ud=70"
) = 0
25 The vertices of a triangle are D(-2, 2), E(-2,<8) 0 R v Y v i el
and F(5, -3). Graph and label the image witha | | | | EMNEREEL.
reflection over the line y = -x. Name the image ! BRES

- e Dl e n, ORI S SR L B { VRS ;. ....... B o e 10 | i b
vertices below. (P2 (=Y,~X) B e : SEEREBE DT -
|

D ("2(23 E (3,?/l F (3"’5!

Write the algebraic rule for a reflection
overy = —X.

(x 2 (Y,-X




llllln Il\‘=-
Write the algebraic rule for the rotation 270°: \-.-. ‘

IIII= TN

g

28. Graph AABC with A(5, -3), B(2, -4), and C(1, 1),
then graph the image of AABC after the ..-.-.
translation (x,y) —» (x+4,y+1),thena (2 -!..-
reflection over the x-axis. -.L‘-.-..-
| . _ EANNENEEE
Label all your points then, write the coordinates !“ﬁ.““.‘
of the final image below. ' e NI, \ N|
A EEREENNERS N
(1,-2) B2 ~1) C(-3,2) EEENEREER
Image [ —° ~~ 7/ 7 - Tl 2 HEEEREREER
16
29. ASAM = ALET. If SA=x°+3x,LE=x+35andET = 346 Find SA. -.;\\X {/0
o ;3‘) 34 ONCAIPLCA
T T 4 AT A\~
30. Find the valueof x. S % R
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